
P048-006-0920
(06B1474)

PAJERO / MONTERO
MUFFLER CUTTER

INSTALLATION AND HANDLING INSTRUCTIONS

Thank you for purchasing the Mitsubishi Genuine Accessory.
To install and use the product correctly with proper knowledge of it, read this publication carefully.
Keep this publication for reference when maintenance is required.

• This publication gives precautionary instructions in the boxes titled as follows.
Read through these instructions thoroughly.

Describes precautions that should be observed in order to prevent injury or damage to 
the vehicle or its components, which may occur if sufficient care is not taken.

Provides additional information that facilitates installation work.

• Failure to follow these instructions not only prevents the product from working properly but may lead to trou-
ble with the vehicle. Be sure to follow all instructions carefully.

• If there is anything unclear about the installation, handling and/or usage of the product, contact your Mitsub-
ishi Motors dealer for clarification.

• Mitsubishi Motors Corporation is not responsible for any defects or difficulties caused by or resulting from the 
failure to follow given instructions.

• We recommend you to have the installation performed at an authorized Mitsubishi Motors dealer.

This drawing shows MZ574513EX.

Part No. Applicable models

MZ574512EX Short body 

MZ574513EX Long body, gasoline engine 

MZ380397EX Long body, disel engine 

Attention

CautionCaution

Note

To the dealer:
Be sure that the customer receives this publication.



-2-

j TOOLS (Make the following tools ready for use.)

j COMPONENTS (Make sure that all of the following components were included in the kit.)

j PRECAUTIONS
• Be sure to apply the parking brake securely. Remove the ignition key from its key cylinder.
• Do not work just after turning off the engine, or when the tail pipe and the muffler is still hot.

INSTALLATION PROCEDURES
A. INSTALLING THE MUFFLER CUT-

TER
 1) Loosen the bolt on the muffler cutter  and put it over

the end of the tail pipe.

2) Set the muffler cutter  so that the tip of the tail
pipe is in contact with the backside of the curled
section of the muffler cutter , with its mounting
bolt and drain hole at its lowermost position, as
shown in the drawing. Then tighten the mounting
bolt (M6) securely.

B. CHECKING AFTER INSTALLATION
• Check that the product is mounted securely without looseness.
• Test drive and then retighten the mounting bolt.

   Muffler cutter: 1 

Socket wrench (size: 10) Torque wrench

MZ574512 MZ574513EX MZ380397EXEX

1

Long body, gasoline engine models (MZ574513EX)

Long body, diesel engine models (MZ380397EX)

Drain Hole
1 Muffler cutter

Short body models (MZ574512EX)

Bolt: M6

Bolt: M6

Bolt: M6

1

Be careful not to damage the hooks and
mirror housing.

Caution

1

1

Check

Check


